8 7 6 S 4 3 2 | 1

REVISIONS
[> NOTES ® ] DATE APPROVAL |
w005 v 171572081 | TLC
1. NON—IMPACT RESISTANT OPTION — .125" L00S Y as2z2/21 1 TLC
MINIMUM DSB_GLAZING MEETS UNIFORM STATIC
GLAZING SHALL HAVE, & MAXMUM REIGHT OF
Al AVE A MAXIMUM
6.70° AND A MAXIMUM LENGTH OF 24.00" 13 GA HORiZ ANGLE\
GLAZNG IS NOT MPACT RESISTANT AND DOES
NOT MEET THE REQUI
WDBORNE DEGRIS REGIONS.
2, IMPACT RESISTANT GLAZING OPTION —
IMPACT RESISTANT GLAZING SYSTEM MAY BE 15 GA MIN HORIZ € DOOR |
INSTALLED IN INTERMEDIATE SECTIONS (WITH TRACK ;
OR WTHOUT DECORATIVE INSERTS). GLAZING
SHALL BE 1/4” POLYCARBONATE. MAXIMUM 13 GA CONTINUOUS ﬁ
GLAZING DIMENSIONS SHALL BE 11* x 17", WALL ANGLE |
FASTENED WITH A MINIMUM #8 X 1° SMS: 3X L
ALONG THE HORIZONTAL AND 2X ALONG THE
VERTICAL. 15 GA MIN VERT —_ | i d,
3. ALUMINUM FULL VIEW OPTION — ALUMINUM TRACK \ Ji M
SECTION: EXCEPT TOP AN BOTIOM PANELS N | <
ANELS. " - L1~ 1 <
ALUMINUM FULL VIEW SECTION SHALL HAVE 5/16°x1-5/8" —|| H 20 GA CENTER STLE— |9
RAILS AND STILES OF EXTRUDED ALUMINUM LAG SCREW AT EACH :
ALLOY 6063—T6 AND .125" MINIMUM DSB HOLE LOCATION FOR
GLAZING INSTALLED WITH ALUMINUM WOOD SUBSTRATE. SEE a
RETAINERS IN ORDER TO MEET UNIFORM SHEET 3 FOR MOUNTING b
STATIC DESIGN PRESSURES SHOWN ON THIS TO OTHER SUBSTRATES. w =
DRAWING. AFV PANEL SIZE IS 51.5"x21.9"
(MAX). GLAZING IS NOT IMPACT RESISTANT )
AND DOES NOT MEET THE REQUIREMENTS FOR i g
WND—-BORNE DEBRIS REGIONS. y i
(1) 1/4—20x9/16"—_|
4. MINIMUM OF 1° OVERLAP ON BOTH JAMBS TRACK BOLT AND N Ky
REQUIRED TO MEET NEGATIVE DESIGN 1/4=20 HEX NUT AT H ﬂ [
PRESSURES. EACH TRACK CUIP i
LOCATION H
5. SUDE LOCK OR OPERATOR REQUIRED. (SEE DETAL A SHEET 3) 20 GA END STILE : TYP ny
6. SECTION STEEL TO HAVE THE FOLLOWING 11 GA TRACK c,_,Ps_/ H N
MINIMUM_ THICKNESS: i \
420 423 = 20 GA (WELDED, BOLTED, OR H )
427, 429 — 24 GA RIVETED TO WALL - 7
434, 436 — 25 GA ANGLE) SEE NOTE 8 AND S
7. THE DESIGN OF THE SUPPORTING DETAL F SHEET 3 =
S:I'RUGTURAL ELEMENTS SHALL BE THE SUIDE LOCK ONE END——
RESPONSIBILITY OF PROFESSIONAL OF (NOT REQUIRED WITH -Jy
RECOMD FOR . BUILDNG OR STRUCTURE OPERATOR — SEE @]
AND IN ACCORDANCE WITH CURRENT BUILDING NOTE 5)
CODES FOR THE LOADS LISTED ON THIS H
DRAWING. 1
8. TRACK CLIPS SHALL BE LOCATED WITH
CENTERLINE OF BOTTOM CLIP SPACED 10° :
MAX FROM BOTTOM OF TRACK AND REMAINING i
TRACK CLIPS SPACED AT 24° O.C. MAX. H
SPACING BETWEEN TOP TRACK CLIP AND
SPUCE PLATE SHALL BE 30" 0.C. MAX. >
9. WHEN MOUNTING TO WOOD, DOOR JAMB TO
R i 8 ST A e u
M| M
FOR ATTACHMENT TO SUPFORTING Nate. (SQESSSEON;%E v [ dE
STRUCTURE. LOCATIONS ON DOORS WITH OTHER H
SECTION QUANTITES AND SEE NOTES H ko)
1, 2 & 3 OF THIS SHEET FOR GLAZING ﬂ : )
SUPERIMPOSED DESIGN PRESSURE OPTIONS. .
LOADS ON SUPPORTING STRUCTURE - \HEET 2 i
MAX | nooR | MAX UNIFORM LOAD EACH JAMB [ k=
DOOR | | eicyt (PLF) :
WDTH \
94" AL +1321/-151.3 R
‘-Qs\\\\\
- OF T A
‘«P. ‘..-onoo... 4
% o’ 6\ Ja n Digitally signed by
John Christian
.. &hMgtian Voelkel
) Date: 2021.05.03 THE DOORS ARE DESIGNED AND MANUFACTURED TO COMPLY WITH THE 2018 IRC AND THE 2018 IBC.
, clkkel 10:13:53 -05'00"
S00000000000000000000000000000
' - - , AND INFDRMATIDI N.]NVH].EIR]NPART,HAYNDTE(‘.BPIEIIINWWHRWTDMWMKNH CONSENT OF OVERHEAD DOOR MA'I'.II'.IN. lI]]IlSd.I]S.lRE[F
STATIC PRESSURE RATINGS APPROVED SIZES cevecsseecevesee ANY (F THIS IRHVING (R IETRMTION 1§ INTENDED TO DPERATE AS 4 LICENSE (R AUTHIRIZATION 0 USE IT FUR ANY PURPOSE VITHINT THE SPECIFIC VRITTEN CINSENT [F (VERHEAD HIEK CORPIRATION
9 u — INH.DAI'I OPTION CODE 2064
MAX WIDTH: 9'—4' VHOLE
DESIGN PRESSURE(PSF): +28.4/-32.2 MAX HEIGHT: 24—1° 1 3 31 7 4 NUMBERS! t T CLARK 8/12/2020 RIS 42 Pds?/;!nﬁsusuﬂs,
I | ., R OVER 500 +008/5003 | e | NI oE T RIAN 1/21/21
IMPACT/CYCLIC RATED: YES MAX SECTION HEIGHT: 24 ., 74 / @0" : 000 + 010 RIVED 31 B D- 411780
“ 6-.“CENS %000t T E TN wGes s | EA Toak |ere ee—aTemies
®esscsne’® - -
8 7 | WISIONAL eV | 4 3 2 | 1
\\ w

Vv


chris
Texas


1/4-20x9/16" TRACK BOLT
AND 1/4-20 HEX NUT
THROUGH THE SLOT IN THE
TRACK AND TRACK CLIP

12 GA COMMERCIAL TOP FRAME
BRACKET WITH 13 GA ROLLER
CARRIER ATTACHED WITH (4)
1/4-14x7/8" SELF DRILLING
CRIMPTITE SCREWS

ADD (2) 1/4-14x7/8" SELF
DRILLING CRIMPTITE SCREWS
(INSIDE OF EACH INSIDE END HINGE]

2" STEEL ROLLER WITH
5-1/8" STEM AND 7/16”
PUSHNUT AT EACH ROLLER
LOCATION. 1/4" MAX
BETWEEN PUSHNUT AND
BRACKET OR HINGE

14 GA WIDE_BODY END
HINGE TO ATTACH SECTIONS
ONE_AND TWO.

13 GA WIDE_BODY END
HINGE TO ATTACH
REMAINING SECTIONS. FOR
ALL, ATTACH WITH (4)
1/4—14x7/8" SELF DRILLING
CRIMPTITE' SCREWS

14 GA WIDE BODY

INTERMEDIATE HINGE
ATTACHED WITH (4)
1/4-14x7 /8" SELF
DRILLING CRIMPTITE
SCREWS:

12 GA BOTTOM BRACKET
ATTACHED WITH (3
1/4—14x7/8" SELF DRILLING
CRIMPTITE' SCREWS

STATIC PRESSURE RATINGS

APPROVED SIZES

DESIGN PRESSURE(PSF): +28.4/-32.2

MAX WIDTH: 9'-4"
MAX HEIGHT: 24'—1"

IMPACT/CYCLIC RATED: YES

MAX SECTION HEIGHT: 241

8 7 |

"J.'C. VOELKEL

. 133174
‘° ;-‘.{CENS?:?-G
“sslaouooi\:'€$

\\\\QQ\\“

(12) SECTION DOORS WITH:
(15) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(11) SECTION DOORS WTH:
(14) 3" 20 GA B0 KSI U-BARS
LOCATED AS SHOWN

(10) SECTION DOORS WITH
(13) 3° 20 GA 80 KSI U—BARS
LOCATED AS SHOWN

(9) SECTION DOORS WITH
(12) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(8) SECTION DOORS WITH
(10) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(7) SECTION DOORS WITH
(9) 3" 20 GA 80 KSI U—BARS
LOCATED AS SHOWN

(6) SECTION DOORS WITH
(8) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(5) SECTION DOORS WITH
(7) 3" 20 GA 80 KSI U—BARS
LOCATED AS SHOWN

(4) SECTION DOORS WITH
(5) 3° 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

ATTACH U—-BARS WITH

(2) 1/4—14x7/8" SELF
DRILLING CRIMPTITE SCREWS
AT ALL STILE LOCATIONS, TYP.

l THE DRAVINGS AND ALL DTHER INFDRMATION CONTAINED HEREIN ARE THE CONFIDENTIAL AND PROPRIETARY PROPERTY OF OVERHEAD DODR CORPORATION AND ITS AFFILIATED COMPANIES. THIS DRAVING
AND o DISCLOSED VRITTEN CONSENT OF ISCLOSURE OF

V] INFORMATION, IN VHOLE OR IN PART, MAY NOT BE COPIED IN ANY MANNER DR TO ANYONE VITHILT THE PRIDR OVERHEAD DOOR CORPORATION. MO D
ANY OF THIS DRAVING DR \TIDN IS INTENDED TO OPERATE AS A LICENSE OR AUTHCRIZATION TD USE IT FOR ANY PURPOSE VITHOUT THE SPECIFIC WRITTEN CONSENT OF OVERHEAD DOOR CORPORATIDN.
i = FINISH | 1t tiemuine. The Oiriginat e DATE wm%m" cane
g nia LEVISVLLE, 2064

N/a | G Ky Toes " Clark | 871272020 21/423/427/429/434/436,

T e o 4/-322 PSF, 9'-4' MAX

 — MEASURE J QIAN /21721 Femae
—_—T N/A APPROVED BV s’ D- 411780
REF_DWG EA T CLARK | 4/27/2) o N/A__ [sswe o 3



chris
Texas


MIN 3/16” THICK
STEEL FOR MOUNTING

MOUNTING WALL ANGLE:

RUBBER GASKET
1/8" ANNEALED DSB GLASS (MIN)
EBGOXX MIN. DLO= 5"X20

TRACK CLIP

1/4-20x9/16"
TRACK BOLT AND
1/4-20 HEX NUT

QPTIONAL: WALL ANGLE MAY BE ATTACHED TO
SUPPORTING STEEL WITH MIN. (1) 1/4—20x7/8"
SELF DRILLING SCREW WITH 1” 0.D. WASHER AT
EACH HOLE OR PAIR OF HOLE LOCATIONS IN

TRACK LIEU OF WELDING
MOUNTING TO STEEL DETAIL

RUBBER FRAME GASKET

(NON—INSULATED DOORS)
56 8" 1-3, LAG

AT HOLE
LOCATION FOR WOOD
SUBSTRATE.
MOUNTING WALL AN
TRACK CLUP
o e PLASTIC FRAME Rueidns

1/8" ANNEALED DSB GLASS (MIN) /420 Hex N
DLO= 5 3/4°X22 7/8"

{10) #8X2" SHEETMETAL SCREW

(1) PER VERTICAL FRAME LEG

(1) PER HORIZONTAL FRAME LEG

LOVER INT, RAIL

12GA_SCAB BRACKETS (OPTIONAL)
© 12" SPAGING SECURED TO WALL
ANGLE WITH 1/4—20 TRACK BOLT
AND 1/4-20 FLANGE NUT

3/8° SIMPSON TITEN HD,
2-3/4" NIN EMBED INTO
MIN 2000 PS!_CON i

AT EACH HOLE OR PAIR WALL ANGLE FACING
OF HOLE LOCATION: b RD

g TRACK CLP
- Byszecs
e 1/4-20 HEX NUT-
4 TRACK
/ CONCRETE NOUNTING DETAIL — ANGIE N
CONTINUOUS I
WALL ANGLE TRACK ]
\ exrnon 10: L
(2) 1/4" X 7/16/" \ FRAME \ NOUNTING WALL 2-24 (Eaoxx MIN
SEMI TUBULAR | A
RIMTS OR (2) I N TRAGK CLP— QPTIONAL: WALL ANGLE MAY BE ATTACHED TO
1747220 TEAGK | / ~ Hi Bl T e
BOLTS WITH NUTS™, /" 1/4-20 HEX NU EACH HOLE OR PAIR OF HOLE LOGATIONS N
OR (2) .28" DIA CTRACK TRACK UEU OF WELONG
RESISTANCE SPOT A cLP MPACT WINDOW MOUNTNG To STEEL DETA
WELD:! QS
DETAL E < \‘\\
- } FETTIITI P 4"4 ‘
=y i *s; 0 '
o 9 .

4 .
g J.C.VOELKEL 4

I THE DRAVINGS AND ALL OTHER INFORMATION CONTAINED HEREIN ARE THE CONFIDENTIAL AND PROPRIETARY PROPERTY OF OVERHEAD DOOR CORPORATION AND ITS AFFILIATED COMPANIES. THIS DRAVING
-.nn.--ono-n..-n---.--o-aoo:o-ll wmﬁ,ﬂyﬁvg;m%ﬁ%mvumn%%TgﬂwnE%%ﬁ‘%wq%%mmmmﬂg&wmm&mu m&%ﬂgww
STATIC PRESSURE RATINGS APPROVED SIZES 7 - Soe e E— e T e B s s T

MAX WIDTH: 9'-4" (2" 133174 & U4 e 8/12/2020 [SERIES '$51/423/427, 422/ 454/436,

DESIGN PRESSURE(PSF): +28.4/~32.2f S~ F =2 '(po .4, 0. é/{/ g s T CLaRK SRS STt

- 1/21/21
IMPACT/CYCLIC RATED: YES MAX_SECTION HEIGHT: 24] Q‘K‘Q'S‘-.CE Ns?,’.-'. N2 e olse A . o N/a s e L8 D-_ 411780
‘ s ®ecece® “ - TREF DWG__ | USED DN £ T CLARK e N/A |3 o 3
- _
) 7 | W{/ONAL Eos | 4 3 2 | 1


chris
Texas


	2030 411794-rA SH1
	2030 411794-rA SH2
	2030 411794-rA SH3
	2031 411796-rA SH1
	2031 411796-rA SH2
	2031 411796-rA SH3
	2032 411795-rA SH1
	2032 411795-rA SH2
	2032 411795-rA SH3
	2040 411797-rA SH1
	2040 411797-rA SH2
	2040 411797-rA SH3
	2041 411798-rA SH1
	2041 411798-rA SH2
	2041 411798-rA SH3
	2045 411799-rA SH1
	2045 411799-rA SH2
	2045 411799-rA SH3
	2062 411778-rA SH1
	2062 411778-rA SH2
	2062 411778-rA SH3
	2063 411779-rA SH1
	2063 411779-rA SH2
	2063 411779-rA SH3
	2064 411780-rA SH1
	2064 411780-rA SH2
	2064 411780-rA SH3

		2021-05-03T10:13:53-0500
	John Christian Voelkel




